Precal

CHAPTER 3 |

For #1 - #6 use f(x) - ll’l(xz)
1) F-1) =l

2) f(x+2)=f(¥)—J (=8
3) fla+x)= f(a)e f(x)given that a < x <0
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SRAC: 2f(x)

| :
) If ;f(u) = f(v), then vu = v is the only solution for v

6) 1f e —7 = 13 then X= ln2 mmmmns
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7) Which of the following are equivalent? @Iog{ ] ‘ log, 27 + log, 81
Qi &ii B.i & iii C. i & iii D. None of them
§4pf 3
8) Which of the following are equivalent? I 5 + log3 2 0g90
A i &ii B. i & iii €. & it D. None of them

2l 3
9) Which of the following is equivalent to 0281 '&;5/11 9,1: e 3"": .35

A log L B L log 27 - log 81 D E. Cannot determine without
3 3 it i
10) Which of the following is the value of —log 0.00001° o b’a Toocwo.
A, -5 B.-4 sk ‘]1_ D. .;_ @Vone of these " S
4 AR AR
11) Which of the following is the value of log, m? tfx‘-'- Tha o
Al ¢l L E. None of these
2 3 3 x Akt
12) Which of the following is the value of —logl 2437 g' T
3 :
A. . B.-5 @ B; % E, Noneefthese
- log. k& a ; »*)4
13) Given that 10857 X = 3 what is the value of x? &Y
A. 81 B 32C2% D. 36 G)Non of these f - 3
14) The exponential form of log/, x = 5is which of the following? SRS
i« . 4
A B=i (55 N C. x4 =5 p L e @Noneofthe‘ée
2 o
15) Given that log log7 =5, & log2 = c which of the following is equivalent to log,
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e log(%) D\ log,a E. None ofwg‘l %
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#16-2: Show ALL work. Do NOT SKIP steps on this qs
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21) A rumor spreads through a track team according to the model 3(;) = (
hours since the rumor was started and R(t) is the number of pﬁopIé'whol have
hours will it take for 160 people to hear the rumor?
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22) Evaluate: llogj27_510g32+1f333?16_31033 - g
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I£$1000 is invested at an interest rate of 7%, com
balance in the account after 5 years. Use the formuls

[A] $7389.06 [B] $1521.96

[C] $1402

-+ Write an exponential function to model the situation. Then predic
after 5 years (to the nearest whole number). A population of 350 a

an annual rate of 11%,
[A] 7(x) =350(089)"; 1558

[C] 7(x)=350(L11)"; 1943
3. Find the exact value of In e®.

4. Find the value of log 0.0000.1.

B) 7(x) = 350(111)'35

@(x) - 350(089)";195 |

,Lm, ,{,,3 I

5. Solve for x. [A] x=26

e 6:
10 =26 Q"Jm" pY

[C] x=230 (D] x=0SG NN,

6. Which is the graph of f(x) =4 + In(x + 3)?




)

%Xs + !oxh‘q) -

7. Which is Slog x + 3log(x —4) written as a single logarithm? ".1',
@ logx*(x-4)*  [B] 15logx(x~4) = [C] log st aimn

8. Given log9=10.954 and log 8 = 0.903, find log—:—. : 10; q'-,qlgg ;

-
- .

9. Which is the solution to 8° = 3**2?

pe 3 & xResPd[A] x =12000 [B] x=11201

2402 [D] none of W

10. Which is the solutionto 9 =87 ¥ =

@]} =-706194  [B] x=-320000 [C] x=-353097 (D] noneofthese

11. Which is the solution to 7* —8”6'7 X = 6 )

[A] x=—467180 . =-934361 7[C] x=30995 [D] none of these

,Q ! }% J The number of bacteria present in a culture after ¢ minutes is given as B =10e", where k is
= 2N

————a constant. If there are 1194 bacteria present afte s, find k.
[A] 14.347 [B] 4.782 w | [D] 2391

13. List the transformations needed to transform the graph of h(x) =8" into the graph of
flx) =i ﬁjj"{' !
up 3
14. List the transformations needed to transform the graph of h(x) =3" into the graph of

Hr)=9 7 L ﬁ?' L"”)
uf’

15, Write an exponential function to model the situation. Then predict the value of the function

after 5 years (to the nearest whole number). A population of 310 animals that decreases at
an annual rate of 17%.

[A] f(x) =310(117)"; 1814 .f(x) = 310(0.83)"; 122

[C] f(x)=310(083)"; 1287 [D] f(x) =310(117)"; 680




16. Cheryl invests $25( at 9‘?(’:&'j

a. Write an EXponential fyp
b. At what time will 1§ fotal reac

350 254 | .a?t*‘j"_,ﬁ' ‘-
17. Describe the transformatiop from f (x)=log x to 8(x) = log
and range of the function g(x) - ) Wi q

€ (- %0, 0 )



